Guided Practice
1. Describe the relationship between the angle measures of complementary angles, supplementary
angles, vertical angles, and Bnear pairs.
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2. identify the pair(s) of congruent angles in the figures below. Explain how you know they are
congruent.

a. c
ZABC is supplementary to £ CBD.
2 CRD is supplementary to £ DEF.
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3. Find the measure of each numbered angle.

3. mzZ2=57° c. m/5=22° e. mZ1=38°
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b. mZ13=4x+1], d. Z9 and Z10 are f. m£2=4x-26
m/14=3x+1 complementary. m/3=3x+4
L1=/9,mL=41°
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Skills Practice
Find the value of x in each figure.
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7. What s the value of x if ZPQR and ZSQT are vertical angles and mZPQR =47° and
mZSQT =3x+2?

2X+2= Y+

SY =43

8. Find the measure of an angle that is supplementary to Z8 if the measure of £8 is 58°
X +S8 =180
o
X =122

Find the measure of each numbered angle and name the theorems that justify your work.

9. mAl=x+10 10. m£4=2x-5 11. mZ6=7x-24
ms2=3x+18 mZ5=4x-13 m/Z=5x+14
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12. Write a two-column proof.

Given: Z1 and £2 form a linear pair and £2 and £3 are supplementary

Prove: /1= /3 \
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